Answer Key 4

1.6: 15, 20, 29, 43, 46, 48, 55, 61, 66, 72
1.8: 3,21, 34, 39,47, 56, 79, 84

1.9: 18, 25, 36, 45, 59, 72, 87, 97, 99, 107
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15) 20)

BT (-3+4i)~(2-50)

R=\3 3+4i-2+5i

=2 —54+9;

29) 43)

(7—i)(4+2i) 4+'6i_£::4i—6:2_il.

28+ 14i —4i+2 31 -3 3

30-10i

46) 48)

(1+2i)(3-i) 3-i+6i+2 5+5i " =() =(-1) =-1
2+1 241 241

5(1+ij_2—i:5_2+2i—i+1:3+l
24i) 2—i 5

55) 61)

=3 -=12-/3i 12 =/36i* =—6 x*+49=0

(x+7i)(x—7i):0
x=x7i

66) 72)

2 _

X —6x+10=0 2aliiizo
6+36-40 6+/-4 . 2

xX= = =3+i 2x° +x+2=0
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3) 21)
a) [-3,3] 5-3x=28x-7
—11x>2
b) (—o0,-3]U[3,0)
X< ——
11
2
_(xj’__
)
-2/14
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34) 39)
3<3ysT< 1 x(2x + 7) > (0 Critical points -7/2,0
2 x<-7/2.eg. -4 True
13 -7/2 True
-10<3x<——
o 2 -7/2 <x<0eg -1 False
10 13 0 True
_?3X<_z x>0eg. 1 True
10 13
) (o712} [0.0)
-10/3  -13/6 772 0
-@—%
47) 56)
2 3 6 2 2
x2 g (x+ ) Critical points at 4x (x 9) =0
x"=3x-18>0 4x* (x+3)(x-3)<0
—3EN9+72 :éi V81 :éig =6,-3 Critical points at 3, 0, -3
2 2 2 2 2 x<-3 eg. 4 False
x<-3 eg.-4 True x=-3 True
-3 False -3<x<0 eg. -1 True
-3<x<6 False x=0 True
eg. 0 0<x<3eg. 1 True
6 False x=3 True
x>6eg5 True >3 eg. 4 False
(=0, =3)V(6,0) [-3.3]
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79) 84)
|x-5/<3 8x+3|>12
~3<x-5<3 8x+3>12  8x+3<-12
2<x<8 8x>9 8x <~15
[2,8] x>9/8 x<-15/8
z 8 (—o0,—15/8]U[9/8,0)
+— P—y—— -15/8 9/8
1.9
10) 25)
{(x.y)l0<y<2] (0.8),(6,16)
D =+6"+8" =+/36+64 =/100 =10

0+6 8+16

MPz(T, 5 j=(3,2)

-4

36)
CE:\/(—6—2)2+(3—1)2 =16+4 =20
DE:\/(3—‘2)2+(0—1)2 =\25+1=426

\/E < \/% so C is closer

45)

(L1) (0.5) (55)
JI+(y=1) =25+ (y-5)
1+(y-1) =25+(y-3)

Y =2y+1+1=3>—-10y+25+25
8y =48

y=06

(0.6)




59) 72)

y=|x-1 4% +25y =100

X Y

-1 0 if x=0 if y=0

0 -1 25y* =100 4x* =100

2 2
y =4 x =25
1 : y=%2 x=45
i Intercepts are at:
(0.2)
- (0-2)
(5.0)
N (50)
o1

87) 97)

(x+3)2 +(y—4)2 =25=5* Center =(-2,2)

Center =(-3,4) Radius =2
Radius =5 (x+2)2+(y—2)2:22:4
99) 107)
X'+ +4x—6y+12 X’y +xy=1

Complete the square twice

(" +4x+4)+(y" —6y+9)=-12+4+9
(x+2) +(y-3) =1

Center =(—2,3)

Radius =1

Test for Vertical Symmetry
2

(=) y* +(-x)y =1

X’y —xy=1

No!

Test for Horizontal Symmetry
2

¥ (=y) +x(-y)=1

¥’y —xy=1

No!

Test for Symmetry around the Origin
(=x) (=) +(=x)(-y) =1

X’y +xy=1

Yes!




